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5 TR BB | 5 |1 |Bae @) onols mlgm o | o150 | = | & | ¢100| ¢100] ¢100] ¢100
No. No. No. m m m m #A #A B | @ | @& m m m m &l X X #8
369-1| 369-1-1| 369-1-2 XE® 2.50 1.00 0.42 045| & 1 1 0.92 1.20 1.20
369-1| 369-1-1| 369-1-2 XE® 2.50 1.00 0.42 045| & 1 1 0.82 1.10 1.10 1 2
369-1| 369-1-1| 369-1-2 XED 2.50 1.00 0.12 045| &/ 1 1 0.82 1.10 1.10 1 2
369-1| 369-1-1| 369-1-2 XEQ 2.50 1.00 0.12 045| &/ 1 1 0.82 1.10 1.10 1 2
369-1| 369-1-2 | 335-2-2 XE® 1.31 1.00 0.12 045| &/ 1 1 0.92 1.20 1.20 1 2
369-1| 369-1-2 | 335-2-2 XE® 1.31 1.00 0.12 045| &/ 1 1 0.92 1.20 1.20 1 2
369-1| 369-1-2 | 335-2-2 XE® 3.86 1.00 0.42 045| & 1 1 0.82 1.10 1.10 1 2
369-1| 369-1-2 | 335-2-2 XEO® 1.14 1.00 0.12 045| &/ 1 1 0.82 1.10 1.10 1 2

g
& | ®
H | 8T 17.62 8.00 1.86 3.60 8 8 6.86 9.10 9.10 7 14

1 2.20 1.00 0.23 0.45 0.86 1.14 1.14
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B #oE o W =
E3A T 7R—ILMH
1. fE8lT
1) 20 x 20 x( 346 — 004 )= 13.68 137 m3
2. HiET
MHZE t=02m | 1) 20 x 20 = 4.00 40 m?
RC-40-0
¢ 200 EELR
i 2) (095 x 0416 — 0037 )x( 200 — 1.05 )= 0.34 03 m3
@150 BEEER
b 3) ( 090 x 0365 — 0.021 )x( 1.00 — 0525)= 0.15 02 m3
3. FETIHRET
ERAME 049 m3
BIEE 0.13 m3
MHIEE R &h 0.12 m3
MHC {5, EEERD 2.08 m3
MH#} B2 &R 0.25 m3
it = 307
1) 20 x 20 x 287 — 307 = 8.41 84 m3
4, FRAMET
1) 137 — 84 = 090 = 437 44 m3
5. T8I
BAESETE | 1D 20
H=3.5 2.00 20 m
BEMEREAT | 2) 20
H=4.0 2.00 20 m
6. SHEEUIMRT ERIES X
1) 21 x 2 = 4.20 42 m
7. HEEIET
1) 21 x 2 = 4.20 42 m?2
8. EMH
TURJRF ¢20( 1) 1 X
9. EfET
BEE ¢200 | 1) 0.4 0.4 m
10. BT
BEE ¢200 | 1) 2 2 m]




2 CAAFZTEOHT
(Z)5AMHERE) (L=350m)
1D OBHE#
150 mm

1.8 & 20mm 2. & B 2 EEE 3. BIEE
4. MEHISE  BH-0.45 5. {EAINE 200m 6. {EHIE
7.+ B Ot - LERECYL) 8. WYES
9. FSwhHL—1aik 16.0 t BY

BH#HEHREHL 2.00mHY
2) IR
1. {EHIBFROEE (D1) =(LxWxH) + Q (Z#+P15)

(D1) = (3.46 — 1.000 m x 200 m x 2.00 m =+ 74.00 m3/8 =

2. BAHESLERZAAFKEOREE (D2) (Z4tP38)

(D2) = (0.31 = 10.00m) x 2.00m =
EHITAEHBEH O+@
3—1. H ®# T D3-1) (FHH#H1-11-D-17)

HifE+E = (2.00m x 0.20m ) x 200 m =

3—2. MHEREI (D3-2)
15MH=0.25 B/&f BIEInkiE=0.15 B/&Fr E4£=-58/&m
(D3) = 0.80 m3 / 36.0 m3/H + 5.4 B =

(B8 )
4. ERHRT D4) (& 7. EEEE) ($#1HP93)
(D4) = 1.10 x 0.015 A/m/B +
2.00 m 0.55 x 0.012 A/m/B = 002 8 @
3.46 m 5. BHREERELI (D5) (¥ W 8 [F 85 4 ) (HHP18)
2.00 m HELEE=200m x (3.46m — 1.2m) x 2.00m= 9.04 m’
(D5) = 9.04 m3 + 36.00 m3/B = 0.25 8 ®
I iz =
B % 5 10 H
T *i | | | é&
o 0.19
EEIRUEAAL
0.19
0.138 @ HET+WH, BIERET
5. 42
w oz g or |0190.21
0.02
sz poEEL %19 04
0.06 B @ 0.25
7 Z T
owm |* B % 5.44
18 ¥ B % E=200m= 2.00 mx 5 808= 5808 x1.3= 7.54
0.80 m* = 78
K H B #H 5=200m= 2.00 mx A= =]
5.40 B

52 % * H #=2.00 m+ 2.00 mx H



E 5 X T T = 2m=40)
T i
1 Hil 0.20
0+0
B & ®/ & 0.1} 0.09 | 0.2
2.1+2.8
MHFR{E , JERE, B iR 0.15] 55 |57
i R 55[ 0.2 5.7
® OB fit X 57004 ]5.7
% 5% ; 57 A, .
0 2 3 1 6 7
LR = 2.00 m
T H
2.00m / 2.00m X 5.7H 1.3+ 14H
21H
T E BB R
2.00m /  2.00m X 5.7H 1.3
7.4H
AR 3K (1F3R%)
2.00m / 2.00m X 5.5H

5.50H




B Ly MY 72T B O R E (1mvh = 30m)

= 3.46 m
2m34b
1. ¥EHI B %2 (d1) 0.2 H B HEx(d3)
A B C=A/B | Cx2,/10
Ny Jk iR B FE R 10m40BH| R 10m34Y A% | 2m4Y B
PR 342 m X 2 mX 2 m = 13.7 ni (D) & Co 0.150 AJ 1.0 0.150 0.03
A B C=AB CXD =5 7% ( o 0.120 Al 1.0 0.120 0.02
fid Al 1m 24 4% K Ini4 B | 2m4v H¥ 0.05
W Al [ ~v7400.28 0.0135 1.0 0.0135 0.2
ICEU LIRS 4 m/ H 0.2 H d3 =d’3 + 4’3 = #u#g + 0.05 = 548 H
4. MELH%(d4) 0.2
2. BRESHRARER E H$(d2) 0.1 H
HEL L& 8.40 m (D)
RiRGERE (d’2)
A B C=A/B | CxX2,100
i B JloomMuA] A B |100m40 B 2m¥Mbv HEL
S 3.10 Al 1.0 3.10 0.06 1A Y4 0kEE B
= E 2 B 3.10 Al 1.0 3.10 0.06 8.40 ni / 3 n/ H = 02 H
EEEREEFE 9.30 Al 3.0 3.10 0.06] 0.06 H
HRTERE (d2)
A B C=A/B | Cx2,/100
B |1o0mUVAE 0 A [100m4V EE] 2m4v Bk
L (EEER) =S % o N 36 m
S 0.80 Al 1.0 0.80 0.02 0.2
FIRTEXE 0.80 Al 1.0 0.80 0.02
EBEREEFE 2.40 AJ 3.0 0.80 0.02] 0.02 H 5. RN R A $(d5) 0.04
B Ok
i 25 & 0.40 Al 1.0 0.40 0.01 RAE (d’5)
Y- EEFE) 0.40 Al 1.0 0.40 0.01 A B C=A/B | CxX2,7100
EEEREEFE 1.20 Al 3.0 0.40 0.01] 0.01 H B 100mEnSE M sk [100mED BER| om0 H ¥k
it & & 1.00 A 1.0 1.00 0.02
d2 =d’2 + 4’2 = 006 + 0.02 + 0.0l = 0.1 H % ik (E £ B 1.00 Al 1.0 1.00 0.02
TOmIEXEE 3.00 A 3.0 1.00 0.02] 0.02
5.5 H KR THE(d75)
3. MHERE , ZEAE M OVE sk H #(d3) A B C=A/B | Cx2,7100
WAL H %5 (d’3) 0.154ni/ m X 2 m = 03 m (D) FE B JloomMvA  #E p |100m4b HE| 2m4Y B3
WA & 0.442m/ m X 2 m = 09 i (D) ERL (el m)
it & & 0.60 Al 1.0 0.60 0.01
1 S HMERE H % Y ET) 0.60 Al 1.0 0.60 0.01
1 &FF 4 s/ H = 0.25 H TOmIEXEE 1.80 Al 3.0 0.60 0.01] 0.01
1A YvkaE B2 PPN
1.2 nd / 3 m/ H =0.03 H S 0.40 Al 1.0 0.40 0.01
FIE R E H K ®E L ICETS 0.40 A 1.0 0.40 0.01
1 &%/ 6668/ A+ 5H =0515H W E & B 1.20 A\l 3.0 0.40 0.01] _0.01
d5 =d5+ 4’5 = 002 + 0.0l + 0.0l = 0.04
i [l AN 36

5.43 H





